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sft criid sms €fucr elfi ssrt d oro ssH tl
Answer all question. All Question cary equal marks.

3nq o\ ctuTrtud afftuq I wo-a E-a 3n-q der **ifl"ul*,
Define the term Income Distinguish between Gross Total Income and rotal Income.

aT,"ftq rr.rR-6 d. yildr (q-*-6rfr 6ffi) a * *ffil:L o-r zhrq enq frertutua t:-(i) fueyr t +sr ETi d efrq=d t friqr t fr cTH to-c t onq (rrur+r o1 .rg)v. zsooo
(ii) vrfu-wn it furd gB Tfr t Gnq

(iii) ril-fiq ffi Enr frtcr t tq an+rcr (Eed)
(iv) qro il Rsrd 1rfi ffiq fm +iqm d rwia-sor t snq
(v) {rrd"s t ilo qfl trq srffif, enq Vq qTE qr'i

E 10000

s. 5m0

s. 10000

E. 25oO

2.

d cilf,r of o-q fturl'qq q{ zors-zo d ftq sfi-d ea 3rTq qff rqqr otfug, qR m:(i) ffi t (ii) erqrEniur RqrS B (iii) 3rh-sr$ t I

Indian citizen Dr. Shweta (Government employee) has the following taxable income for the previous year 20lg-1g(i) Income fiom salary received in Iroreign country for services renderecl in that country (computecl) Rs. 25000

(ii) Agricultural income from agriculture land situated in pakistan Rs. 10000(iii) Divided (Gross) by an Indian company payable outside India Rs. 5000(ir'; Income fiom transfer of a long-term capital assets situated in India Rs. 10000(v) Interest earned and received in England from bank deposits there Rs.2500

(lompute gross total income of Dr. Shweta lbr the Assessment year 2ol9-zo if she is
(i) Resident(ii) Not Ordinary resident (iii) Not resident

orEdFT oT Tqr cref B? oqm u_1-dr$ d c- .#-'#,r.-"
what is meant by perquisites? Give five examples of tax-tiee perquisites.

srQrqr/oR
eirq q-+rqT Tfi qg q-orq d ETfr i etc {cn6mrE d vo wS ii z+ooo s. cfr qr6 A-il{ w orfra E I srd qo-q 6rcrriqrfuor T@ro-+ 20000 5 S sdi qorc 6T t/z qrq r+oo s. ch qr6 fufl\ q(u-o, e* oi rl, qm d rsq wdt t^wqrf q.hFr c{ vdi rzoo s or qrnqrfr-fir or g?Erqr t I qolq + fl* * .,roo ;- Rqi, .r;;-rqt d, Tfr w ;
B fuflot ft-qrsr ooo. s. EzFrq-r t r s-+i 200000 s. or" mq d-oq q-qilq 6T Fqirr oa;q1 en + 3=3i a cfrsrd c.fr s{ ot(r S r erfia rsgs d qr< fuqr Qnt
o-r frtrit"r q{ zorg--ao d ft\ s{-+1ed oilq aro aflfucr

Om Prakash is the owner of a big h<luse and employed in a school of Alahabad on a monthly salary of Rs. 24000 p.M.
Municipal valuation of his house is Rs 20000. he has let out li3 portion of the house and a montt,ly rent of Rs. 1400
and occupies remaining 213 pttrtion tbr his own residence. He paid Rs. 1200 municipal taxes in ,"rp""t of the whole
house' FIe paid Rs. 1200 on the insurance of the house. The house is constructed o, i"ur. land. he paid Rs. 600 as its
t'ent' He had constructed the house with the borrowed money <lf Rs. 200000 which was borrowed after Rpril l, 1999
@) 8%P.Y. interest.
Compute his total Income 1br the Assessment yeal. Z0lg-20.

3. ft. c{ i gr qfd zorg ol wqq *i qrd d d ffi{#'Ht; gon fl dr-qrFr-}T +qr Fqrs-nq dqx fuqr B r

2o1s-20 d or Furfsq s{ Bg sfl+1 @qrnq g 3rru 91-6 +ifuv
dFITfrITT &Ir

(ar urd zors oi qqrw *i srd s{ d ftc)

ioc cs q-f,(fl
til-slsT, 3ilR
T6 qtr
3llqiFl

33000

1 600

82000

900

qof, dnT
Rsn{N t nw sc6t-{

334725
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fr-f,rq-{
GfiF qq
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3rFq firT q-dnfu
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800

600

900

400

2100

800

Mr. N Prepared the fbilowing profit 
" 

,"rr r.:n:f"f his croth shop for the year ended
income from the business for the Assessment year 2}lg_20

er$eirr gm'
gS e t vIq artr or oicrq zrrsoo

Salaries and wages
Rent etc.

Household expenses
Income Tax
Advertisement
Postage expenses
Gift to relatives
Fire Insurance Premium
Lif'e Insurance Premium
Bad Debts reserve
Audit Fees

Net profit trans to cap Alc

335000

3l March 2019. Find out his

frq d 3{ai {cqilqr Hqsrgg:
(or) 6-{-Iffi ft-s{f,rft qmdqT
Explain clearly the meaning of the following :(a) Tax-Free Non Government securities

er qrd zorg d r+n-< Eti srd s{ d ftc * ##Ht#fttu. t(3I) qrqrR-o. dFr (2oooo.s. fo am glaq[ffi {rEiT o)s.qn frd Ec EH d(q) \'f, qmf d €q t vo-qrpnd ,TFr tfu-sil q6 s{Er qD eilo E r(q) E-l-6rfr qFolm cr qru Booo 18,I(s) 3nwt oiq d qfrd q{ 3nq 6000 s rfiF?r I(q) ffi iff fio t crw (gq) yrfu Toooo 6. t(r) vsi 3rqi wrce.q qi fuqmo. Er-s csdw q{ t-6-s d 4ooo E. qq ftd tq;q ftqiwr qd zorg-zo d fu ed 3nq 01 .rorqr o1fuc r

The income of an individual for the year ended 3l st March 2019 consists of the following:(a) Business profit (after setting off Rs. 20000 paid by cheque as a donation to the Chief Minister,s relieffund) Rs. 552000
(b) one-fourth share from an association of persons in which he was a member(c) Interest on Government Securities Rs. AdOO(d) Income on Unit on M.F. Rs. 6000 (gross)
(e) Winning from lonery (net). Rs. 70000
(0 He spent Rs.4000 in cash on his preventive health check_up.
Compute the total income for the Assess ment year 

.-2019-20

Eftd o1 .nn d wri dprT BE-+1*u * u#SL*,
Explain the provisions regarding carry-forward and set-oflosses.

o-q d'srFrq rrrnlq' t 3ITq r.r sr-si d? * #-at(f;}j h** s vgu sn ol we qrsr oTB*r
what do you understand by'Advance Payment'of tax? Explain clearly the piovisions of the Income Tax Act in thisrespect.

slerqT/oR
eilroq erffi il{r ilmrtft eor EGd o_{i d qrqtrn) or r{Sq fr qof-{ o1fuq I

Describe briei)y the provisions in respect ofsearch and seizure by an Income tax authority.

Profit & Loss Account
(For the year ended 3 I march 20 I 9)

33000 Gross profit 334225
1600 Gifts received fiom relatives Z7S

82000
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21 1 q00

335m0

slerql oR
335m0

(e) n-gm q-rorfr qFd{fuqr

(b) Less-TaxGovernmentsecurities

Efli d cc-4r0 sszooo r.l

Rs. 8000
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